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QUESTION 1

Kraig is developing an OpenSocial gadget. A colleague advised him to use both the JavaScript Console and Firebug if
his gadget is not working properly.

Which browser will he need to run to use both of these tools?
A. Safari

B. Mozilla Firefox

C. Google Chrome

D. Microsoft Internet Explorer

Correct Answer: B

QUESTION 2

What JavaScript feature and its libraries are available to all gadgets without any additional requirements?

A. the basics feature including gadgets.show, gadgets.hide, and gadgets.xml

B. the crud (or REST) feature including ajax.get, ajax.put, ajax.post and ajax.delete

C. the core feature including gadgets.io, gadgets.util, gadgets.Prefs. and gadgets.json libraries

D. the dynamic-height feature including gadgets.window.adjustHeight and gadgets.window.getViewportDimensions

Correct Answer: C

QUESTION 3

Marco is creating an OpenSocial gadget that would retrieve and show dynamically created data. Which approach can
result in performance improvement?

A. Disable image pre-loading.

B. Use Cache-Control HTTP header.

C. Load all external content using Ajax.

D. Deliver all resources from external domains.

Correct Answer: B

QUESTION 4

Merchele is working on a gadget and would like it to render locally. She understands that the OpenSocial Component
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will read data from the local replica of the widget catalog. However, she is finding that it is not rendering locally.
Which might be a reason for this?

A. The ACL is not set properly on the local replica.

B. The gadget is using OAuth and needs to run remotely.

C. The IBM Notes client is not capable of handling trust management.

D. An instance of the IBM Domino server with Shindig is installed locally.

Correct Answer: B

QUESTION 5

When posting to the microblog. the body of the POST message is an ActivityEntry object. Which field in the ActivityEntry
object is mandatory?

A. userid

B. content

C. message

D. ActivityEntry object can have no properties.

Correct Answer: C
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